FIUL ERRR - WERI P - B (B 5 )
- : ; TR Elianeane
* G ) SRR 1) BRI () BRI /25 (o B TEQ ) [BIR G RSO B (o e
e, - A
7 o | AcE = |~ . - p— B s
P WEAH st | B | Ak b | | o || Tan| anr | oxm | pw | omu | ew | s | wion | aw TR
Ny 2 0 ) )
z 1 1
1200 | ek Bt 3 41,00 41,001 180 180 41.18
L1l L1l L1
1 i 1 1 42,11 12,11 18 18 12.292|
1400 |k T2
1500[ 35
1 0 1 1 0 0 0 1 0 0 0 4 0 0 0 1 0 0 0 1
) 0 0
R 1.600] .10, 110 5.700
1600 | Akt - A ih it ] 7600 3600
34 34
0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3 1 8 3 0 0 0 3 1 0 1| 5238 0 0 0| 5238 4100 ol _xi0 9.338]
1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
1700 5 B 4l gt s 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 21 0 21 21
2 2 27
1|7 /U 13 131 72 72 851
56| = F Lo AFUR 2 2 2 2 ) 12 13 13
T|7ask R =fifi7o b s 71 71 71
134 | kRS % 171 171 39 39 56
23,60 28.50 28.50 52.10
ST e AT g 1 1 4 4 52
1800 e 61 61 610
1 17 17 172
564 f//’;m““’]‘f”’\* 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 ol 1100 o 1,100 1,100
T2V EEELY 0 ] ] 0 0 0
AT AT F NI 1 7 7 27 270 :
& i 1 2 1 1 1 To] _2a16 1 24.177] 3234 32.342
VTN A U S 14 11
N[y 3 ] 221 0 22
% 5 5
5~ EVR - i H 5 54
1900 | HAAS « FIIR - [7] 3838k T AR 5 3 5 G i 30
. : 02.000 02.000 152.20 1.0
i 1 i 1 1 10] 902,000 902.002]155.820 17| 155.837]  1.057.830
0 120 120 1 424
290 0 290 0 0 290
0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= (CAF T
5|7 e FAFAT 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T LB AT 1 1 1 101 1.000
TUYAT I 1 1 9
5 2 2
3 2
; 1
yab R O =fifi7aibs 1 1 1 1
RIS 1 1 1 0
1215 —yanr=)—L 1 0 0 1 1 0 1.400
27| Zam L s p : 3 p 0 2 3 3 0 11.000
anAse GIAEILAT
12875 A5 Gl AT 1 0 1 1 0 0 0 1 0 0 o] 32,000 0 0 o| 32,000 0 0 0
132 [= QLM OZ D lr 2t 1 1 1 1 1 0 0 2 1 0 1 1 8 0 0 9] 23.000 0] 23.000
14 Ear (St 9 5
144 oS 1 0 1 0 1 0 0 1 0 0 0 0 12 0 0 12 0 0 0
181 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
183 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o] 5,500 o| 5,500 5,500
186 1 2 2 1 0 0 0 1 2 0 2 130 0 0 0 130[ 79,000 0| 79,000 79,130
1 0 0 0 0 0 0 0 0 0
2 1 200 200 51,000 51,000 51,200
> 1 1 2 24| 12.000 12.000 12.024
AT LT 4 2 2 2 4,800 4,800 4,820
Mz 1 0 0 0 0
% 3 4 1 3.700 3.700 3.701
2 0 0 1.600 1.600 1.600
273 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
277 I I 2 1 0 0 0 1 1 0 1 72 0 0 0 22| 9.400 0] 9400
288 1 0 1 1 0 0 0 1 0 0 0 39 0 0 0 39 0 0 0 39
) 300 [z 1 1 1 1 230520
2000| L TH [ S ] Pt 150.000
31 RitiAb.i 0
: & LMPAT : : : P 31
2 . 9
34 1 85 85
391 1 1 1 0 1 0 0 1 1 0 1 0 2 0 0 2 0 200 202
392 2 2 2 2 0 0 0 2 2 0 2 231 0 0 0 231| 100,600 0] 100600 100,831
395, 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100 I I 1 1 0 0 0 1 1 0 1 130 0 0 0 130 7.600 0] 7.600 7730
1407 AT 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
P1200515%
REDIREY
FDivAh 0 1 0 0 6.600 6.600 6.600
1 1 1 1 9 9 14
1 1 1 1 71 21 0 0 240
DiLA 2 2 1 3 814 819] 11,000 11,000 11,819
—NE)T
594 | F LT —7 L (15T F 1 1 2 1 0 0 0 1 1 0 1 1 0 0 0 4 9 0 9 13
Atay T
o | - EONCZDANT 2
598 |0 Oy iy st 0 1 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 3 3 3
e RS P
602 e 1 0 1 0 1 0 0 1 0 0 0 0 30 0 0 30 0 0 0 30
1 1 1 1 0 0 0 1 1 0 1 75 0 0 0 75| 18.000 0] 18.000 18.075
1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
e 1 1 1 1 0 0 0 1 1 0 1 56 0 0 0 4.100 0 4.100 4.156
683 [N AV )T 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0
691 < 2 1 2 2 0 0 0 2 1 0 1 50 0 0 0 18 0 18 98
N E
698 UL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
699 [T LT LT
Hy FZ7 L 1 1 1
AR : 10 100 26.00 26.00 26.10
AFNAVTF b 15 15 15
ot 6 6 g 5 1 T 5 61| 299280 1399 300,681 818,250 818,26 Lis042|
TeTITe
EX
9.900 9.900
2100 IR M
* 880 8.80
16.00 16.00
9.20 9.20
299 299
ZOlhE
R AF NP 22
3\ [~T L0
9999 [ A 3F 1 3 1 1 10,11 9.90 9.90




F)INWL SRR - e Jm e - BB (450 5 4R
: —— AT E = TP
e SR () PR () BEEE () PR (/4 A Midmg-TEQ/4R) | P (ke 132 it (ke/ s
” e mg-TEQ/4F) AL Et
ES E3 24 e AAF
EE S Petty | BE < S| | N | AR | BEEE| TAH| A % 14 H3E ot e Rkl it :r’rﬁ'"s"‘ EQ/
17,600 17 17 17.770
I 10.10 10193
13 13 1,268,282 28.1 28.1 2
2.1 13 2.5
15[ DYV LRE 32 32
2200|7525 i 0 20| A5 7V LB AT L
2200|752 F o7 Wi Wi e S8[AFAT IRy ) ) 5: o
of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
I I I I 0 [ 21000 21,000 30 30 2100
1 1 1 1 0 1 97 ) ) 97 0 0 0
P S0 3 P IR 1 4131743 1317432 30881 g7 ETIRTY] MRYTRES
1 1 1 1 0 0 3.400 ) ) 3.400 0 0 0 3.400
2300 | = 2 B 1 1 1 1 0 0 0 1 1 0 1 9 0 0 0 9 27 0 27 36
7 12,000 12,000 12.000
4 45.409 45.409 7 7 15.436|
2 0 o501 301 3.010
1 0 0 1,300 1,300 2300
4,4 —A/7uEy
37| 7w/ (1 0 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
I I I I oo 0 I I 0 I 0 0 07200 730 0 730 7.930
2 1 2 2 0 0 0 2 1 0 1 0 0 0 9.130 940 0 940 10.070
o) ) 1 0o o oo o o o 0 0 0 0 0 0 0
5
.3.1.1(3, 7))
e of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
’Z
272 }H/Km J‘ (55 0 0 0 0
300 by 3 17.11 7 17.11 1.700 1.700 18.817
302 11.200 11.200 11.200
2500 | %8 HA Ran it 3 51 51 51
51 51 51
INE] INE] INE]
418 of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
i i) ) I oo o o o] o o] 0 0 0 0 0 0 0 0 0 0
585 of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
lfy/'ﬂ):— NE)T
594 V(B4 T 1 1 1 1 of o o 1 1 0 1| 24,000 0 0 o| 24000 2500 o| 2500 26,500
697 4 0 T 1 oo o o] 0 T 0 I 0 0 0 0 0 350 0 380
9999 7 1 pxi s[ 16 16| srad 57452| 26,034 26,934
S8 [ AL 2o 1 0 0 0 250 250
2600 | #k8M3 412~ N R OZO A 1 1 1 2 0 0
2 I i 2 750 750
1 1 2 5 51 592 0
] ) o2 p 0 300 300
of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
I T T 7 v 1 5 15
i 1 o0 0 0
yab R O =fifi7aibs 1 1 0 1 37 3 3
Rl a2 1 o0 0 0
2—/un—4, 6
of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
sS4 of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
VI FA AN T
e
1497 i) ) I oo o o o] o o 0 0 0 0 0 0 0 0 0 0
150 o0 1 o oo oo oo o 0 0 0 0 0 0 0 0 0
157 i) ) 1 oo oo o] o o o 0 0 0 0 0 0 0 0 0
158! of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
19| b3 of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
= ARG
186 |37 A GBI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
KR RF DAY 1 0 1 1
2700|384 L LOE DAY 13 780 i il
2 1 1
0
0
AN
[yt e of o 1 of o o o of of of o 0 0 0 0 0 0 0 0 0
)
i (B A- IR 17 1 1
NN ESNIEEELD
Il 2—1sm
281 [N /aET L s
ZNEE) 1 60 5
3 0 3
7] p 5 350 10:
v 0
N
3145 ijt/'”-"*‘““’/k‘" 1 0 1 0 1 of o 1 of o o o 24,000 0 o| 24,000 0 0 0
0]~ B i) ) T 0 oo o] o] o o 0 0 0 0 0 0 0 0 0
105 (155 Felr 2o 1 0 1 0 1 o0 1 o o0 0 130 0 0 130 0 0 0 130
of o 1 of ol o o of of of o 0 0 0 0 0 0 0 0 0
1 0 T 0 T i) ) T ) Y ) 0 100 0 0 100 0 0 0 100
1 0 1 1 oo 0 1 o o0 110 0 0 0 110 0 0 0 110
0 1 1 of o o] of o 1 0 1 0 0 0 0 0 170 0 170 170
0 0 0 0
679|FL LJ OZF OIV 2o 1 2 0 23 23
697§k OF DIEA S 2 B % 165 T65)
9999 & 11 1 34 i 1 21 597 26206 76,803 7 7 27,273
D AT A T P P : : pl 203 0 203 2 2 230
A/ 7 aE ¥
1 0 1 1 of o o 1 of o o 2 0 0 0 2 0 0 0 2
1 Il T 37.24 37.24 1693
1 2
1; ] T 5347 5347 1588
SN 2 1891
PN VA=VN (e ] 2 1.610
132|3/V R O DAV A1) L L 0
SFaars o § c
"“‘;"//(“W”“U 1 0 1 1 0 0 0 1 0 0 o] 5500 0 0 o| 5500 0 0 0
il 2 0 0 0
2800 | 4 7 3 = L L L 5.800 0 0
300 13 13 13 13 63.676 2.596 2.596
309 p ) 1 I 10 270 272
374 0 1 1 of o o] of o 1 1 2 0 0 0 0 of 1700 10| 1,810
105 1 0 T 0 T ] ) T oo 0 01700 0 o[ 1700 0 0 0
112 34 i3 o o o 3 i o 4| 1050 0 0 0] 1050 8810 0[__8810
59| F v — (4T F 2l o 2| 2| o] ol of 2l o o o] 11700 0 0 o| 11,700 0 0 0 11,700
NEBYINT)
NI AF L~ T 3 1057 1.05 37 37 1091
[0 OF DA 3 p L0s 130 1327
AFNAVT F b 1 2.1 11 2
&l 50| 38| e8| 5 5l 3 1 171 535 21 m 137] 21,75
TFNAR P 1 1 1 1 4 3
iy 1 I I I 2520 5 14
(1760 =T A T 0
112,101 112,101 5.50 5.50 118,900
2900 ST
R AF L 17.70 1770
RN OF DA 71 71
AFNATTF T p 12.30 12.30
Al 3 RS 3 364,778 364,778] 868 568 373 ﬁl




U0 HERRR - TR E PR - Bl (P 5 4R
= E R T P
* G e SRR 1) BRI () BRI /25 (o B TEQ ) [BIR G RSO B (o e
S : Ao
oo P E— P P ] = P P (R
s WEAH st | B | Ak v | sy | ot |veem| Al ant | oxm [PK) ww | ome | oas | sees | maon | ew [SResTRo/
0 0 iz 740 10|
10.060 10.060 4 10 10.100
0 0 0 0
0 0 0 0
0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I 0 I I 0 0 0 I 0 0 0 850 0 0 0 850 0 0 0 850
3000 | AUk 2 LIRS 5 Vo yVa—ne)7
59| F T (T F 1 1 1 1 0 0 0 1 1 0 1 560 0 0 0 560 56 0 56 616
)
1 1 1 1 0 0 0 1 1 0 1 300 0 0 0 300 30 0 30 330
1 1 1 1 0 0 0 1 1 0 1 200 0 0 0 200 20 0 20 220
) 1 2.000 ) ) 2.000 18.000 0 20.000
I3 BRI B —— 32,856
7 3 . 363.640
S5
)
T7L.70 5t 1]
5511
100 e s s i 328
3100 iz ARiEE 5 0
2.700 1824
703" "(1‘ ’/L};ﬁf]"”/ 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 60 0 60 60
BT AFAAITF A 4 2 4 ) 4 13.200 ) ) 13.200 0 1.673
2 3 PE] I 381,006,480 1,006,480 71,259
) 200 ) ) 200 0 140
2900 | s s g .600 600 260]
3200 Bk R RLE ) 5.300 ) ) 5.300 0 190]
100 100 590]
) 0 ) ) 0 0 10
3400| 2o fho Rt 3 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 18 0 18 18
2 2 2
30 30 30|
5.300 5.300 5.300
1.00( 1.00¢ 1.000
3500|222 1.201 1.201 1.200
3500 5 110 110 110
140 140 140
1 1 4 2,450 2450|630 6.30 8.750
1 1 0 1 0 54 548 0 0 548
1 of 10 0 1 0 0 1 0 0 0 0 13 0 0 13 0 0 0 13
7
AT ] I 010 0 I 0 0 I 0 0 0 0 0 0 0 0 0 0 0 0
87 [/ 8 i/ Al A 1 010 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
i E B INIZY ) 1 010 0 1 0 0 1 0 0 0 0 7 0 0 7 0 0 0 7
5
1 o 10 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
1 of 10 0 1 0 0 1 0 0 0 0 13 0 0 13 0 0 0 13
S —4—yEmsy
o i< 1 o 10 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
I 010 0 I 0 0 I 0 0 0 0 0 0 0 0 0 0 0 0
1 010 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
1 010 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
1 of 10 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
e 1 of 10 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
3830| TR ">“/( R 1 of 10 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
1 1 1
1 1 1
2 2 2 2
1 1 1
268 1 o 10 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
2724 i (BT 1 1 1 1 1
o1 1Moy 1 1 1 1 1
280 1 1 1 1 1
1 1 1 1 1
Gt % e (N2 O MRV A 1 1 1 1 1
N R
f‘ EARRTED K of o wof o] o] of of o of o o o| 10138 0 o| 10138 0 0 0 10,138
LB 1 010 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
FEERZY) 1 010 0 1 0 0 1 0 0 0 0] 1608 0 0 _4.608 0 0 0 1608
106 "‘"'“mtt = (i 1 o 10 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
\//f L OT5H 10 119 1107
yonzFly 10 1
BN p 10 p P
i 302 i i 16,53 16,538
- = 300 300
3900 | ;i 300 300
4400
1 INE
134 IE
3.22 3.20
8.1 8.1
5132 | 4Tl EITER 712 712
10¢ 1
3 3 3 3 7 7
2 2 2 22| 134 134
5142|825 T EIFE
6
I
- . ; ; ; 5 5
5930 | kb i 2 L L
5 : : :
T~ 7 1.023 1.
21,24 21,24
1 7 7
7210|1 695 | 0 2 2 0 0 0 0 0 0 2 2 0 0 0 0 0 o 53000 5300
9999 A5 1 Z 3 1 0 0 0 1 0 2 2 670 0 0 0 670 0] 5300] 5300
N RS 3 011 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0
O—=F /L =0—4—=
LA 3 of u 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
—‘f('f\\%}'l’
AN A ) 0 ] Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
87| 7asRk (R =Afizosird 3 0 11 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
88 [ A2 2 A4 3 o1 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
JBm—4, 6—EA(=
FATIN =1, 3, 5-N) 0 of n 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
: it
TALE (B - P P
7ok ik g 3 of u 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
1 ol u 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
0 ] Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 o1 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
WESTTEYD, 0 ] I 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|1, 1-Yr7onxFrr
158 e 1 of u 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
179|1, 3~ v7mmT R 0 of u 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
sr16| TR (2 4 }‘*‘D D
MOlmsy s 186 fﬁi‘;”‘”( Vlifes 0 of 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
@R OZ DA 5 p 2
LR %\/)ﬂ' /) 1 0 0
B2 I 3 T 17 i 581 881 5.928
0 0 0
0 ol 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7.2
AT M (B2 AT 1 0 11 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
SN e 2 o 0 2 0 0 2 0 0 0 0 1 0 0 i 0 0 0 1




F)INWL SRR - e Jm e - BB (450 5 4R
o AT R Tl LA W
SHRPE SR () PR () BEEE () PR (ka/ 45 A% i me-TEQ/4F) :i%’!‘ I(tgkﬁ,f HAAFLE A (e
E3 24 = AAF Y
" N I el o N " L e Sy - ,
s [ 230 st | Bw | et | am S5 b | | e || Tan| anr | oxm |SNEA) ow | omu | ew | s | wion | aw PR
O[T 1.2 Nnnasy ) ) S o o o o o o o 0 0 0 0 0 0 0 0 0
NPEEEEIR, ) ) I o oo oo o o o 0 0 0 0 0 0 0 0 0
2 [tk i (1 e/l 1 0 11 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
374 f‘\;,ft/"z"&u‘ DA 7 of 0 7 0 0 7 0 0 0 0 7 0 0 7 0 0 0 7
100]~ T ) ) I oo o o o] o] o o 0 0 0 0 0 0 0 0 0
105|155 Rl 2 0] o 11 o 10 o o[ _10f o o 0 0 24 0 0 24 0 0 0 24
T T
406 | EIEET v Gl 0 ol 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
12|~ H ROZFOIAT 5 1 5 1 5 1
632]1. A== 1 11 1 ) 0
697 [ 7 DIF Ay i 1 1 0
9090 A if 65 355[ 1 5 6] I 5 83 5
L[ gnod AvEMEAL A 1 3 1 0
O—=FL=0—4—
N=Tx= AR of o sl o o of of of of o o 0 0 0 0 0 0 0 0 0
47—k (RIAE]
: N 2] oo sl o o o o o o o 0 0 0 0 0 0 0 0 0 0
[ PN AT TN 2 0o a0 o o o o o o 0 0 0 0 0 0 0 0 0 0
[ PRI NS oo s o o o o o o 0o 0 0 0 0 0 0 0 0 0 0
2—yun—1, 6—EA(T
ws|Faran-1,3,5-  of o 3 o o o o of o of o 0 0 0 0 0 0 0 0 0
of o sl o o of of of of o o 0 0 0 0 0 0 0 0 0
of o 3| o of of of o o o o 0 0 0 0 0 0 0 0 0
W~ FAH—F)
Ui 0o s o o] o o o o 0 0 0 0 0 0 0 0 0 0 0
4 oo a0 o o o o o o 0 0 0 0 0 0 0 0 0 0
oo s o o o o o o 0o 0 0 0 0 0 0 0 0 0 0
, L= vraasTl s 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 ) ( ) )
LM =) 7 ? 0 0 0 0
Py
e ) a2 of o sl o o of of of o o o 0 0 0 0 0 0 0 0 0
PEHPERE LS, 5l vy Ty
8722 |fF MU YRR e | 186 ‘}i;”/(”wmm 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
at) z ;
2| Lo R OFOIES ] 0
F A% R 50 ] Pl [ [ 14
) 0
268 of o 8| o o of of of o o o 0 0 0 0 0 0 0 0 0
272|§ SRR (B A-TR
2791, 1. 1—Nypazsy
280[1. 1. 2 1)z
PO ISVEEE= )
o
374, 1 of 3] o 1 of o 1 of o o 0 1 0 0 1 0 0 0 1
100 oo s o o] o o o o o 0 0 0 0 0 0 0 0 0 0
105 1 o3[ _0 1 o0 1 o o0 0 4 0 0 i 0 0 0 4
406> & of o 8| o of of of of o o o 0 0 0 0 0 0 0 0 0
2~ A ROZ O B ) I 0 3
AFNFTHC Y 51 5 5
0
¢ ; 0
[ 1 10 I I 56 5 5
; 243 A% T E 0 0
o210 9009 [ A2t 0 0




